Potencias de 10 (E)

9.0172+10

2.3233+10

8.4794 10

8.3293 =10

3.1735+10

8.076 10

8.8238 + 10

8.6465 + 10

2.9335+10

1.0967 =10

Calcule los siguientes cocientes.

2.9414 =10

7.3275+10

1.0433 =10

7.8122 =10

5.0982 =10

1.5344 =10

8.185+10

5.5773 =10

9.996 =10

5.6098 =10
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Potencias de 10 (E) Respuestas

9.0172 =10
0.90172
2.3233+10
0.23233
8.4794 =10
0.84794
8.3293 =10
0.83293
3.1735+10
0.31735
8.076 =10
0.8076
8.8238 =10
0.88238
8.6465 =10
0.86465
2.9335+10
0.29335
1.0967 =10
0.10967

Calcule los siguientes cocientes.

2.9414 =10
0.29414
7.3275+10
0.73275
1.0433 +10
0.10433
7.8122 =10
0.78122
5.0982 =10
0.50982
1.5344 =10
0.15344
8.185+10
0.8185
5.5773 10
0.55773
9.996 =10
0.9996
5.6098 =10
0.56098

MatesLibres.Com




